

**A GENERALIZATION OF SIMPSON TYPE INEQUALITY  
VIA DIFFERENTIABLE FUNCTIONS  
USING  $(s, m)$ -CONVEX FUNCTIONS**

**Zhiqiao Yang**

**Yujiao Li**

**Tingsong Du<sup>1</sup>**

*Department of Mathematics  
Science College  
China Three Gorges University  
Yichang 443002  
China*

*and*

*Hubei Province Key Laboratory of System Science in Metallurgical Process  
(Wuhan University of Science and Technology)  
Wuhan 430081  
China*

**Abstract.** We derive a differentiable mapping integral identity, which is involved with two parameters. By using this result, we establish new inequalities of Simpson type based on  $(s, m)$ -convexity for differentiable mappings. This contributes to new better estimates than the earlier results. Finally, some applications to special means of positive real numbers have also been presented.

**Keywords:** Simpson's inequality; Höder inequality;  $(s, m)$ -convex function.

**2010 AMS Subject Classification:** Primary 26D15; Secondary 26A51, 26E60, 41A55.

## 1. Introduction

Throughout this paper, we consider a real number interval  $I \subseteq \mathbb{R}$  and  $I_0$  is the interior of  $I$ . We also use the notation:  $\mathbb{R} = (-\infty, \infty)$ ,  $\mathbb{R}_0 = [0, \infty)$ . We first recite some definitions concerning various kinds of generalized convex functions.

**Definition 1.1** ([6]) Let  $s \in (0, 1]$  be a real number. A function  $f : I \subseteq \mathbb{R}_0 \rightarrow \mathbb{R}$  is said to be  $s$ -convex(in the second sense)if

$$f(\lambda x + (1 - \lambda)y) \leq \lambda^s f(x) + (1 - \lambda)^s f(y)$$

holds for all  $x, y \in I$  and  $\lambda \in [0, 1]$ .

---

<sup>1</sup>Corresponding author. Tel:+86-130-85150545. E-mail: tingsongdu@ctgu.edu.cn

**Definition 1.2** ([15]) For  $f : [0, b] \rightarrow \mathbb{R}$  and  $m \in (0, 1]$ , if

$$f(\lambda x + m(1 - \lambda)y) \leq \lambda f(x) + m(1 - \lambda)f(y)$$

is valid for all  $x, y \in [0, b]$  and  $\lambda \in [0, 1]$ , then we say that  $f(x)$  is  $m$ -convex function on  $[0, b]$ .

**Definition 1.3** ([11]) Let  $(s, m) \in (0, 1]^2$  be a real number. A function  $f : I \subseteq \mathbb{R}_0 \rightarrow \mathbb{R}$  is said to be  $(s, m)$ -convex (in the second sense) if

$$f(\lambda x + m(1 - \lambda)y) \leq \lambda^s f(x) + m(1 - \lambda)^s f(y)$$

holds for all  $x, y \in I$  and  $\lambda \in [0, 1]$ .

It can be easily seen that  $(s, m) \in \{(1, 1), (s, 1), (1, m)\}$ . One receives the following classes of functions respectively: convex,  $s$ -convex and  $m$ -convex.

The following inequality is very remarkable and well known in the literature as Simpson type inequality, which plays important roles in analysis. Particularly, it is well applied in numerical integration.

**Theorem 1.1** ([3]) Let  $f : [a, b] \rightarrow \mathbb{R}$  be a four times continuously differentiable mapping on  $(a, b)$  and  $\|f^{(4)}\|_\infty = \sup_{x \in (a, b)} |f^{(4)}(x)| < \infty$ . Then the following inequality holds:

$$(1.1) \quad \left| \frac{1}{3} \left[ \frac{f(a) + f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2880} \|f^{(4)}\|_\infty (b-a)^4.$$

In recent decades, a lot of inequalities of Simpson type and Hadamard type for various kinds of convex functions have been established and developed by many scholars, some of them may be reformulated as follows.

**Theorem 1.2** ([4]) Suppose that  $f : \mathbb{R}_0 \rightarrow \mathbb{R}_0$  is an  $s$ -convex function in the second sense, where  $s \in (0, 1]$  and let  $a, b \in \mathbb{R}_0, a < b$ . If  $f \in L^1[a, b]$ , then

$$(1.2) \quad 2^{s-1} f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a) + f(b)}{s+1}.$$

**Theorem 1.3** ([5]) Let  $f : [a, b] \rightarrow \mathbb{R}$  be an  $L$ -Lipschitzian mapping on  $[a, b]$ . Then

$$(1.3) \quad \left| \int_a^b f(x) dx - \frac{b-a}{3} \left[ \frac{f(a) + f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] \right| \leq \frac{5}{36} L(b-a)^2.$$

**Theorem 1.4** ([7]) Let  $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$  be a differentiable mapping on  $I^\circ$  and  $a, b \in I$  with  $a < b$ . If  $|f'(x)|$  is convex on  $[a, b]$ , then

$$(1.4) \quad \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)(|f'(a)| + |f'(b)|)}{8}.$$

For some generalizations of (1.4), please refer to [8], [10], [12].

**Theorem 1.5** ([13]) *Let  $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$  be a differentiable on  $I^\circ$ , where  $a, b \in I$  such that  $a < b$ . If the mapping  $|f'|^{p/(p-1)}$  is  $(1, m)$ -convex on  $[a, b]$ , for  $m \in (0, 1]$  with  $p > 1$  and  $\frac{1}{p} + \frac{1}{q} = 1$ . Then*

$$\begin{aligned}
 & \left| \frac{1}{6} \left[ f(ma) + 4f\left(\frac{b+ma}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\
 (1.5) \quad & \leq (b-ma) \left( \frac{1+2^{p+1}}{6^{p+1}(p+1)} \right)^{\frac{1}{p}} \left( \frac{1}{2} \right)^{\frac{1}{q}} \\
 & \times \left[ \left( |f'\left(\frac{b+ma}{2}\right)|^q + |f'(ma)|^q \right)^{\frac{1}{q}} + \left( |f'\left(\frac{b+ma}{2}\right)|^q + |f'(b)|^q \right)^{\frac{1}{q}} \right].
 \end{aligned}$$

For recent results and generalizations involving Simpson type inequalities and Hadamard’s inequalities, we refer to [1], [2], [9], [14].

In the present paper, we explore new inequalities of Simpsions type based on  $(s, m)$ -convexity for differentiable mappings. This contributes to new better estimates than the earlier results. Finally, we apply these inequalities to deduce some inequalities of special means.

**2. Main results**

Before proceeding toward our main theorems regarding of Simpson type inequality using  $(s, m)$ -convex function, we need the following integral identity, which will be used in the sequel.

**Lemma 2.1** *Let  $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$  be a differentiable on  $I^\circ$ , where  $a, b \in I$  such that  $a < b$ . If  $f' \in L[a, b]$  and  $k, t \in \mathbb{R}$ , then the following equality holds:*

$$\begin{aligned}
 & tf(ma) + (1-k)f(b) + (k-t)f\left(\frac{b+ma}{2}\right) - \frac{1}{b-ma} \int_{ma}^b f(x) dx \\
 & = (b-ma) \left[ \int_0^{\frac{1}{2}} (\lambda-t)f'(\lambda b + m(1-\lambda)a) d\lambda + \int_{\frac{1}{2}}^1 (\lambda-k)f'(\lambda b + m(1-\lambda)a) d\lambda \right]
 \end{aligned}$$

for each  $x \in [a, b]$ .

**Proof.** We note that

$$J = \int_0^{\frac{1}{2}} (\lambda-t)f'(\lambda b + m(1-\lambda)a) d\lambda + \int_{\frac{1}{2}}^1 (\lambda-k)f'(\lambda b + m(1-\lambda)a) d\lambda.$$

Integrating by parts, it yields that

$$\begin{aligned} J &= \frac{1}{b-ma} \left[ (\lambda-t)f(\lambda b+m(1-\lambda)a) \Big|_0^{\frac{1}{2}} - \int_0^{\frac{1}{2}} f(\lambda b+m(1-\lambda)a) d\lambda \right] \\ &+ \frac{1}{b-ma} \left[ (\lambda-k)f(\lambda b+m(1-\lambda)a) \Big|_{\frac{1}{2}}^1 - \int_{\frac{1}{2}}^1 f(\lambda b+m(1-\lambda)a) d\lambda \right] \\ &= \frac{1}{b-ma} \left[ tf(ma) + (1-k)f(b) + (k-t)f\left(\frac{b+ma}{2}\right) - \int_0^1 f(\lambda b+m(1-\lambda)a) d\lambda \right] \end{aligned}$$

Let we substitute  $x = \lambda b + m(1 - \lambda)a$  and  $dx = (b - ma)d\lambda$ , which gives

$$\int_0^1 f(\lambda b + m(1 - \lambda)a) d\lambda = \frac{1}{b - ma} \int_{ma}^b f(x) dx.$$

Therefore, we can show that

$$J = \frac{1}{b-ma} \left[ tf(ma) + (1-k)f(b) + (k-t)f\left(\frac{b+ma}{2}\right) - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right],$$

which is required.

**Remark 2.1.** Applying Lemma 2.1 for  $t = \frac{1}{6}$  and  $k = \frac{5}{6}$ , we obtain Lemma 2.1 in [13].

In what follows, we establish another refinement of the Simpson's inequality for  $(s, m)$ -convex functions in the second sense.

**Theorem 2.1** *Let  $f$  be defined as in Lemma 2.1. If the mapping  $|f'|$  is  $(s, m)$ -convex on  $[a, b]$ , for  $(s, m) \in (0, 1]^2$  and  $0 \leq k, t \leq 1$ , then the following inequality holds:*

$$(2.1) \quad \left| tf(ma) + (1-k)f(b) + (k-t)f\left(\frac{b+ma}{2}\right) - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \leq (b-ma) [v_1 |f'(b)| + mv_2 |f'(a)|],$$

where

$$(2.2) \quad v_1 = \frac{2t^{s+2} + 2k^{s+2} + [2(s+1) - 2(s+2)(k+t)] \frac{1}{2^{s+2}} + (s+1 - ks - 2k)}{(s+1)(s+2)}$$

$$(2.3) \quad v_2 = \frac{2(1-t)^{s+2} + 2(1-k)^{s+2} + [2(k+t)(s+2) - 2(s+3)] \frac{1}{2^{s+2}} + (ts + 2t - 1)}{(s+1)(s+2)}.$$

**Proof.** From Lemma 2.1 and using the  $(s, m)$ -convexity of  $|f'|$ , we have

$$\begin{aligned}
 & \left| tf(ma) + (1 - k)f(b) + (k - t)f\left(\frac{b + ma}{2}\right) - \frac{1}{b - ma} \int_{ma}^b f(x)dx \right| \\
 & \leq (b - ma) \left[ \int_0^{\frac{1}{2}} |\lambda - t| |f'(\lambda b + m(1 - \lambda)a)| d\lambda + \int_{\frac{1}{2}}^1 |\lambda - k| |f'(\lambda b + m(1 - \lambda)a)| d\lambda \right] \\
 & \leq (b - ma) \left[ \int_0^{\frac{1}{2}} |\lambda - t| \left( \lambda^s |f'(b)| + m(1 - \lambda)^s |f'(a)| \right) d\lambda \right] \\
 & + (b - ma) \left[ \int_{\frac{1}{2}}^1 |\lambda - k| \left( \lambda^s |f'(b)| + m(1 - \lambda)^s |f'(a)| \right) d\lambda \right] \\
 & = (b - ma) \left[ \int_0^{\frac{1}{2}} |\lambda - t| \lambda^s d\lambda + \int_{\frac{1}{2}}^1 |\lambda - k| \lambda^s d\lambda \right] |f'(b)| \\
 & + (b - ma) \left[ \int_0^{\frac{1}{2}} m|\lambda - t|(1 - \lambda)^s d\lambda + \int_{\frac{1}{2}}^1 m|\lambda - k|(1 - \lambda)^s d\lambda \right] |f'(a)|
 \end{aligned}$$

By simple calculations, we have

$$\begin{aligned}
 & \int_0^{\frac{1}{2}} |\lambda - t| \lambda^s d\lambda + \int_{\frac{1}{2}}^1 |\lambda - k| \lambda^s d\lambda \\
 & = \frac{2t^{s+2} + 2k^{s+2} + [2(s + 1) - 2(s + 2)(k + t)] \frac{1}{2^{s+2}} + (s + 1 - ks - 2k)}{(s + 1)(s + 2)}
 \end{aligned}$$

and

$$\begin{aligned}
 & \int_0^{\frac{1}{2}} |\lambda - t|(1 - \lambda)^s d\lambda + \int_{\frac{1}{2}}^1 |\lambda - k|(1 - \lambda)^s d\lambda \\
 & = \frac{2(1 - t)^{s+2} + 2(1 - k)^{s+2} + [2(k + t)(s + 2) - 2(s + 3)] \frac{1}{2^{s+2}} + (ts + 2t - 1)}{(s + 1)(s + 2)}.
 \end{aligned}$$

This proves as required.

**Corollary 2.1** *Let  $f$  be defined as in Theorem 2.1. If the mapping  $|f'|$  is  $(s, m)$ -convex on  $[a, b]$ , for  $(s, m) \in (0, 1]^2$ ,  $t = \frac{1}{6}$  and  $k = \frac{5}{6}$ . Then we have the following inequality:*

$$\begin{aligned}
 (2.4) \quad & \left| \frac{1}{6} \left[ f(ma) + f(b) + 4f\left(\frac{b + ma}{2}\right) \right] - \frac{1}{b - ma} \int_{ma}^b f(x)dx \right| \\
 & \leq (b - ma) [w_1 |f'(b)| + mw_2 |f'(a)|],
 \end{aligned}$$

where

$$(2.5) \quad w_1 = w_2 = \frac{6^{-s} - 9(2)^{-s} + (5)^{s+2}(6)^{-s} + 3s - 12}{18(s + 1)(s + 2)}.$$

If  $s = 1$ , we can get:

$$(2.6) \quad \left| \frac{1}{6} \left[ f(ma) + 4f\left(\frac{b+ma}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\ \leq \frac{5(b-ma)}{72} [m|f'(a)| + |f'(b)|].$$

The upper bound of the midpoint inequality for the first derivative is developed as follows:

**Corollary 2.2** By putting  $f(ma) = f\left(\frac{ma+b}{2}\right) = f(b)$  in inequality (2.1), we have:

$$(2.7) \quad \left| f\left(\frac{b+ma}{2}\right) - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \leq (b-ma) [v_1|f'(b)| + mv_2|f'(a)|],$$

where  $v_1$  and  $v_2$  are defined in Theorem 2.1.

**Corollary 2.3** Putting  $s = 1$ ,  $m = 1$ ,  $t = \frac{1}{6}$  and  $k = \frac{5}{6}$  in the above inequality (2.7), it yields that

$$(2.8) \quad \left| f\left(\frac{b+a}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{5(b-a)}{72} [|f'(b)| + |f'(a)|].$$

**Remark 2.2.** It is noted that the above midpoint inequality (2.8) is better than the inequality (1.4) presented by Kiramic in [7].

**Theorem 2.2** Let  $f$  be defined as in Theorem 2.1 with  $\frac{1}{p} + \frac{1}{q} = 1$ . If the mapping  $|f'|^{p/(p-1)}$  is  $(s, m)$ -convex on  $[a, b]$ , for  $(s, m) \in (0, 1]^2$  and  $p > 1$ . Then the following inequality holds:

$$(2.9) \quad \left| tf(ma) + (1-k)f(b) + (k-t)f\left(\frac{b+ma}{2}\right) - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\ \leq (b-ma) \left(\frac{1}{p+1}\right)^{\frac{1}{p}} \left(\frac{1}{s+1}\right)^{\frac{1}{q}} \left\{ \left[ t^{p+1} + \left(\frac{1}{2}-t\right)^{p+1} \right]^{\frac{1}{p}} \left[ |f'\left(\frac{b+ma}{2}\right)|^q + |f'(ma)|^q \right]^{\frac{1}{q}} \right. \\ \left. + \left[ \left(k - \frac{1}{2}\right)^{p+1} + (1-k)^{p+1} \right]^{\frac{1}{p}} \left[ |f'\left(\frac{b+ma}{2}\right)|^q + |f'(b)|^q \right]^{\frac{1}{q}} \right\}.$$

**Proof.** Using the the famous Höder integral inequality and by Lemma 2.1, we have

$$\begin{aligned} & \left| tf(ma) + (1 - k)f(b) + (k - t)f\left(\frac{b + ma}{2}\right) - \frac{1}{b - ma} \int_{ma}^b f(x)dx \right| \\ & \leq (b - ma) \left[ \int_0^{\frac{1}{2}} |\lambda - t| |f'(\lambda b + m(1 - \lambda)a)| d\lambda + \int_{\frac{1}{2}}^1 |\lambda - k| |f'(\lambda b + m(1 - \lambda)a)| d\lambda \right] \\ & \leq (b - ma) \left\{ \left( \int_0^{\frac{1}{2}} |\lambda - t|^p d\lambda \right)^{\frac{1}{p}} \left[ \int_0^{\frac{1}{2}} |f'(\lambda b + m(1 - \lambda)a|^q d\lambda \right]^{\frac{1}{q}} \right. \\ & \quad \left. + \left( \int_{\frac{1}{2}}^1 |\lambda - k|^p d\lambda \right)^{\frac{1}{p}} \left[ \int_{\frac{1}{2}}^1 |f'(\lambda b + m(1 - \lambda)a|^q d\lambda \right]^{\frac{1}{q}} \right\}. \end{aligned}$$

By simple calculations, we acquire

$$(2.10) \quad \int_0^{\frac{1}{2}} |\lambda - t|^p d\lambda = \frac{t^{p+1} + \left(\frac{1}{2} - t\right)^{p+1}}{p + 1}$$

and

$$(2.11) \quad \int_{\frac{1}{2}}^1 |\lambda - k|^p d\lambda = \frac{\left(k - \frac{1}{2}\right)^{p+1} + (1 - k)^{p+1}}{p + 1}.$$

Also the  $(s, m)$ -convexity of  $|f'|^{p/(p-1)}$  implies that

$$(2.12) \quad \int_0^{\frac{1}{2}} |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq \frac{|f'(\frac{b + ma}{2})|^q + |f'(ma)|^q}{s + 1}$$

and

$$(2.13) \quad \int_{\frac{1}{2}}^1 |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq \frac{|f'(\frac{b + ma}{2})|^q + |f'(b)|^q}{s + 1}.$$

Therefore, by combining (2.10), (2.11), (2.12) and (2.13), these lead to the desired result. The statement in Theorem 2.2 is proved.

**Corollary 2.4** *Let  $f$  be defined as in Theorem 2.2. If the mapping  $|f'|^{p/(p-1)}$  is  $(s, m)$ -convex on  $[a, b]$ , for  $(s, m) \in (0, 1]^2$  with  $p > 1$  and  $\frac{1}{p} + \frac{1}{q} = 1$ . Then we have the following inequalities:*

(1) *when  $s = 1$ , we have*

$$\begin{aligned} & \left| tf(ma) + (1 - k)f(b) + (k - t)f\left(\frac{b + ma}{2}\right) - \frac{1}{b - ma} \int_{ma}^b f(x)dx \right| \\ (2.14) \quad & \leq (b - ma) \left( \frac{1}{p+1} \right)^{\frac{1}{p}} \left( \frac{1}{2} \right)^{\frac{1}{q}} \left\{ \left[ t^{p+1} + \left(\frac{1}{2} - t\right)^{p+1} \right]^{\frac{1}{p}} \left[ |f'(\frac{b + ma}{2})|^q + |f'(ma)|^q \right]^{\frac{1}{q}} \right. \\ & \quad \left. + \left[ \left(k - \frac{1}{2}\right)^{p+1} + (1 - k)^{p+1} \right]^{\frac{1}{p}} \left[ |f'(\frac{b + ma}{2})|^q + |f'(b)|^q \right]^{\frac{1}{q}} \right\}; \end{aligned}$$

(2) when  $t = \frac{1}{6}$ ,  $k = \frac{5}{6}$  and  $s = 1$ , we can deduce

$$\begin{aligned}
 & \left| \frac{1}{6} \left[ f(ma) + 4f\left(\frac{b+ma}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\
 (2.15) \quad & \leq (b-ma) \left[ \frac{1+2^{p+1}}{6^{p+1}(p+1)} \right]^{\frac{1}{p}} \left( \frac{1}{2} \right)^{\frac{1}{q}} \\
 & \quad \times \left[ \left( |f'(\frac{b+ma}{2})|^q + |f'(ma)|^q \right)^{\frac{1}{q}} + \left( |f'(\frac{b+ma}{2})|^q + |f'(b)|^q \right)^{\frac{1}{q}} \right],
 \end{aligned}$$

which is the same as inequality (1.5) established by Qaisar et al. in [13].

**Corollary 2.5** By putting  $|f'(ma)| = |f'(b)| = 0$ ,  $t = \frac{1}{6}$  and  $k = \frac{5}{6}$  in Theorem 2.2, we have

$$\begin{aligned}
 & \left| \frac{1}{6} \left[ f(ma) + 4f\left(\frac{b+ma}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\
 (2.16) \quad & \leq 2 \frac{(b-ma)}{(s+1)^{\frac{1}{q}}} \left[ \frac{1+2^{p+1}}{6^{p+1}(p+1)} \right]^{\frac{1}{p}} \left| f'(\frac{b+ma}{2}) \right|.
 \end{aligned}$$

In the following corollary, we have the midpoint inequality for powers in terms of the first derivative.

**Corollary 2.6** By substituting  $f(ma) = f(b) = f(\frac{ma+b}{2})$ ,  $t = \frac{1}{6}$  and  $k = \frac{5}{6}$  in Theorem 2.2, we have

$$\begin{aligned}
 & \left| f\left(\frac{b+ma}{2}\right) - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\
 (2.17) \quad & \leq (b-ma) \left[ \frac{1+2^{p+1}}{6^{p+1}(p+1)} \right]^{\frac{1}{p}} \left( \frac{1}{s+1} \right)^{\frac{1}{q}} \\
 & \quad \times \left[ \left( |f'(\frac{b+ma}{2})|^q + |f'(ma)|^q \right)^{\frac{1}{q}} + \left( |f'(\frac{b+ma}{2})|^q + |f'(b)|^q \right)^{\frac{1}{q}} \right].
 \end{aligned}$$

In the following theorem, we obtain another form of Simpson type inequality for powers in term of the first derivative.

**Theorem 2.3** Let  $f$  be defined as in Theorem 2.2. If the mapping  $|f'|^q$  is  $(s, m)$ -convex on  $[a, b]$ , for  $(s, m) \in (0, 1]^2$  and  $q \geq 1$ . Then we have the following inequality:

$$\begin{aligned}
 & \left| tf(ma) + (1-k)f(b) + (k-t)f\left(\frac{b+ma}{2}\right) - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\
 (2.18) \quad & \leq (b-ma) \left\{ \left( t^2 - \frac{1}{2}t + \frac{1}{8} \right)^{1-\frac{1}{q}} \left[ u_1 |f'(b)|^q + mu_2 |f'(a)|^q \right]^{\frac{1}{q}} \right. \\
 & \quad \left. + \left( k^2 - \frac{3}{2}k + \frac{5}{8} \right)^{1-\frac{1}{q}} \left[ u_3 |f'(b)|^q + mu_4 |f'(a)|^q \right]^{\frac{1}{q}} \right\},
 \end{aligned}$$



where

$$\begin{aligned}
 u_1 &= \frac{2t^{s+2} + (s + 1 - 2ts - 4t)\frac{1}{2^{s+2}}}{(s + 1)(s + 2)}, \\
 u_2 &= \frac{t(s + 2) - 1 + 2(1 - t)^{s+2} + (2ts + 4t - s - 3)\frac{1}{2^{s+2}}}{(s + 1)(s + 2)}, \\
 u_3 &= \frac{2k^{s+2} + (s + 1 - 2ks - 4k)\frac{1}{2^{s+2}} + (s + 1 - ks - 2k)}{(s + 1)(s + 2)}
 \end{aligned}$$

and

$$u_4 = \frac{2(1 - k)^{s+2} + (2ks + 4k - s - 3)\frac{1}{2^{s+2}}}{(s + 1)(s + 2)}.$$

**Proof.** From Lemma 2.1, and using power-mean inequality, it follows that

$$\begin{aligned}
 &\left| tf(ma) + (1 - k)f(b) + (k - t)f\left(\frac{b + ma}{2}\right) - \frac{1}{b - ma} \int_{ma}^b f(x)dx \right| \\
 &\leq (b - ma) \left[ \int_0^{\frac{1}{2}} |\lambda - t| |f'(\lambda b + m(1 - \lambda)a)| d\lambda + \int_{\frac{1}{2}}^1 |\lambda - k| |f'(\lambda b + m(1 - \lambda)a)| d\lambda \right] \\
 &\leq (b - ma) \left[ \left( \int_0^{\frac{1}{2}} |\lambda - t| d\lambda \right)^{1 - \frac{1}{q}} \left( \int_0^{\frac{1}{2}} |\lambda - t| |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
 &\quad \left. + \left( \int_{\frac{1}{2}}^1 |\lambda - k| d\lambda \right)^{1 - \frac{1}{q}} \left( \int_{\frac{1}{2}}^1 |\lambda - k| |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \right)^{\frac{1}{q}} \right].
 \end{aligned}$$

By simple calculations, we can get

$$(2.19) \quad \int_0^{\frac{1}{2}} |\lambda - t| d\lambda = t^2 - \frac{1}{2}t + \frac{1}{8}$$

and

$$(2.20) \quad \int_{\frac{1}{2}}^1 |\lambda - k| d\lambda = k^2 - \frac{3}{2}k + \frac{5}{8}.$$

The  $(s, m)$ -convexity of  $|f'|^q$  implies that

$$(2.21) \quad \int_0^{\frac{1}{2}} |\lambda - t| |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq u_1 |f'(b)|^q + mu_2 |f'(a)|^q$$

and

$$(2.22) \quad \int_{\frac{1}{2}}^1 |\lambda - k| |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq u_3 |f'(b)|^q + mu_4 |f'(a)|^q.$$

Thus, our desired result can be obtained by combining (2.19), (2.20), (2.21) and (2.22), the proof is completed.

**Corollary 2.7** Let  $f$  be defined as in Theorem 2.3, if  $s = 1$ ,  $t = \frac{1}{6}$  and  $k = \frac{5}{6}$ , the inequality holds for  $m$ -convex functions:

$$(2.23) \quad \left| \frac{1}{6} \left[ f(ma) + 4f\left(\frac{b+ma}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \\ \leq (b-ma) \left(\frac{5}{72}\right)^{1-\frac{1}{q}} \left[ \left(\frac{29}{1296} |f'(b)|^q + \frac{61}{1296} m |f'(a)|^q\right)^{\frac{1}{q}} \right. \\ \left. + \left(\frac{61}{1296} |f'(b)|^q + \frac{29}{1296} m |f'(a)|^q\right)^{\frac{1}{q}} \right].$$

In particular, if  $s = m = 1$ , the inequality holds for convex function. If  $|f'(x)| \leq L$ ,  $\forall x \in I$ , then we have

$$(2.24) \quad \left| \frac{1}{6} \left[ f(a) + 4f\left(\frac{b+a}{2}\right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{5(b-a)}{72} L.$$

**Remark 2.3.** It is observed that inequality (2.24) with  $m = 1$  gives an improvement for inequality (1.3).

### 3. Applications to special means

For positive numbers,  $\beta > \alpha > 0$  and  $n \in \mathbb{Z} \setminus \{0, -1\}$ , define  $A(\alpha, \beta) = \frac{\alpha + \beta}{2}$  and  $L_n(\alpha, \beta) = \frac{\beta^{n+1} - \alpha^{n+1}}{(n+1)(\beta - \alpha)}$ . These quantities are respectively called the arithmetic and generalized logarithmic means of two positive number  $\alpha$  and  $\beta$ .

Now, considering  $f : [a, b] \rightarrow \mathbb{R}$ ,  $f(x) = x^s$ ,  $s \in (0, 1]$ . Then we have the following means:

$$\frac{1}{b-a} \int_a^b f(x) dx = L_s^s(a, b), \quad \frac{f(a) + f(b)}{2} = A(a^s, b^s) \quad \text{and} \quad f\left(\frac{a+b}{2}\right) = A^s(a, b).$$

Now, using the results of the Section 2, some new inequalities are derived for the above means.

**Proposition 3.1** Let  $f : [a, b] \rightarrow \mathbb{R}$ ,  $0 < a < b$  and  $s \in (0, 1]$ . Then we have

$$(3.1) \quad \left| \frac{1}{3} A(a^s, b^s) + \frac{2}{3} A^s(a, b) - L_s^s(a, b) \right| \\ \leq s(b-a) \frac{6^{-s} - 9(2)^{-s} + (5)^{s+2}(6)^{-s} + 3s - 12}{18(s+1)(s+2)} \left[ |a|^{s-1} + |b|^{s-1} \right].$$

**Proof.** The assertion follows by taking  $m = 1$  and from inequality (2.4) applies to mapping  $f(x) = x^s$ ,  $x \in [a, b]$  with  $s \in (0, 1]$ . Moreover, by setting  $s = 1$  in inequality (3.1), we obtain

$$(3.2) \quad |A(a, b) - L(a, b)| \leq \frac{5(b-a)}{36}.$$

**Proposition 3.2** *Let  $f : [a, b] \rightarrow \mathbb{R}$ ,  $0 < a < b$  and  $s \in (0, 1]$ . Then we can conclude*

$$(3.3) \quad \left| \frac{1}{3}A(a^s, b^s) + \frac{2}{3}A^s(a, b) - L_s^s(a, b) \right| \\ \leq s(b-a) \left( \frac{1+2^{p+1}}{6^{p+1}(p+1)} \right)^{\frac{1}{p}} \frac{s}{(s+1)^{1/q}} \\ \times \left[ (|a^{s-1}|^q + |A^{s-1}(a, b)|^q)^{\frac{1}{q}} + (|A^{s-1}(a, b)|^q + |b^{s-1}|^q)^{\frac{1}{q}} \right].$$

**Proof.** The assertion follows by taking  $m = 1$  and from inequality (2.17) applies to mapping  $f(x) = x^s$ ,  $x \in [a, b]$  with  $s \in (0, 1]$ . Moreover, by setting  $s = 1$  in inequality(3.3), we derive

$$(3.4) \quad |A(a, b) - L(a, b)| \leq 2(b-a) \left[ \frac{1+2^{p+1}}{6^{p+1}(p+1)} \right]^{\frac{1}{p}}.$$

**Acknowledgments.** This work was supported by the National Natural Science foundation of China under Grant 61374028, Hubei Province Key Laboratory of Systems Science in Metallurgical Process of China under Grant Z201402, and the Natural Science Foundation of Hubei Province, China under Grants 2013CFA131. Finally we thank the referees for their time and comments.

## References

- [1] CHEN, F.X., FENG, Y.M., *New inequalities of Hermite-Hadamard type for functions whose first derivatives absolute values are  $s$ -convex*, Italian J. Pure Appl. Maths., 32 (2014), 213-222.
- [2] CHEN, F.X., *A note on Hermite-Hadamard inequalities for products of convex functions via Riemann-Liouville fractional integrals*, Italian J. Pure Appl. Maths., 33 (2014), 299-306.
- [3] DRAGOMIR, S.S., AGARWAL, R.P., CERONE, P., *On Simpson's inequality and applications*, J. Inequal. Appl., 5 (6) (2000), 533-579.
- [4] DRAGOMIR, S.S., FITZPATRICK, S., *The Hadamard's inequality for  $s$ -convex functions in the second sense*, Demonstr. Math., 32 (4) (1999), 687-696.
- [5] DRAGOMIR, S.S., *On Simpson's quadrature formula for Lipschitzian mappings and applications*, Soochow J. Math., 25 (2) (1999), 175-180.
- [6] HUDZIK, H., MALIGRANDA, L., *Some remarks on  $s$ -convex functions*, Aequationes Math., 48 (1) (1994), 100-111. <http://dx.doi.org/10.1007/BF01837981.1>

- [7] KIRMACI, U.S., *Inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula*, Appl. Math. Comp., 147 (2004), 137-146.
- [8] KIRMACI, U.S., ÖZDEMİR, M.E., *On some inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula*, Appl. Math. Comput., 153 (2004), 361-368.
- [9] LIU, Z., *An inequality of Simpsons type*, Proc. R. Soc. Lond., Ser. A, Math. Phys. Eng. Sci., 461 (2005), 2155-2158.
- [10] ÖZDEMİR, M.E., *A theorem on mappings with bounded derivatives with applications to quadrature rules and means*, Appl. Math. Comput., 138 (2003), 425-434.
- [11] PARK, J., *Some Hadamard's type inequalities for co-ordinated  $(s, m)$ -convex mappings in the second sense*, Far East J. Math. Sci., 51 (2) (2011), 205-216.
- [12] PEARCE, C.E.M., PECARIC, J., *Inequalities for differentiable mappings with application to special means and quadrature formulae*, Appl. Math. Lett., 13 (2) (2004), 51-55.
- [13] QAISAR, S., HE, C.J., *A generalizations of Simpson's type inequality for differentiable functions using  $(\alpha, m)$ -convex functions and applications*, J. Inequal. Appl., 2013 (2013), Article 158, 13 pages. <http://www.journalofinequalitiesandapplications.com/content/2013/1/158>
- [14] QAISAR, S., HE, C.J., *On new inequalities of Hermite-Hadamard type for generalized convex functions*, Italian J. Pure Appl. Maths., 33 (2014), 139-148.
- [15] TOADER, G., *Some generalizations of the convexity*, Proceedings of the Colloquium on Approximation and Optimization, Univ. Cluj-Napoca, (1985), 329-338.

Accepted: 11.05.2015